there is one extra answer. Write the letter of this

answer in the corresponding box at the right.
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a. 9x - 1O a. (5p%¢°) p°af2p*q)
b. Bx? - 4x° b. (2P5q2 }(9133)(““4198(1)
e (rox'fos o (asaYagtaf-pe)
d. (ex)-x®) d. 3pa(-24°f12p°)
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a. (7n3)2 a (8ut3)2(u2t)2

b. mﬁlns)s b u4t) (mZut5)4

d. m2n2)6 d. “uzt)4(mu2t4)
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a. (4m7d2)2 a. (3ab2c5)3(a3b80)2

b. (-om*d®)’ b. (~bc®)(a*B°c?)~a®)

¢ (-2 cﬂ:))s(ac3 )(1 lbcz)

d. --ESnfu:ig)‘;L d. (a2bc)5(a2bc5)
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o, 3xy(5x2y)2 0. (% Ic8v3) (60ku*)
b. (—7y)2xy?) b. (101(:50)3(%03)2

. -( kgvz)(—l 5u6)

d. (—-= ku)z(m Icv)S(—- ku)4
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